Aug = start codon

Cag = the correct frame that is needed to continue the production of the protein

N = any nucleotide it doesn’t matter

UGA = a stop codon, it could be a different one but this is the one I chose to use

RRRRR= a placeholder for the suppressor sequence that is needed, until we decide which ones to use

LC1 = RED,  LC2 = BLUE, LC3 = GREEN

SEQUENCE FOR ANYONE SATISFIED:

aug RRRRR g RRRRR g RRRRR g RRRRR g RRRRR g RRRRR gUGAgg cag

If any one of the LCs is satisfied then it will end up in the correct frame.  If none of them are solved then the UGA stop codon will be in frame and the protein will stop.

SEQUENCE FOR ANY TWO SATISFIED:

aug RRRRR g RRRRR  RRRRR g RRRRR gg ( continue to next line

RRRRR g RRRRR  RRRRR g RRRRR gUGAgUGAg cag
Again if any two are satisfied then the cag is in frame.  If only one is satified then the first UGA is in frame.  If none are satisfied then the second UGA is in frame

SEQUENCE FOR ALL THREE SATISIFIED:

aug RRRRR g RRRRR gUGAgg RRRRR g RRRRR gUGAgg ( continue to next line

RRRRR g RRRRR gUGAgg cag

Since all three need to be satisfied then we want the protein to be truncated if any one of the LCs is not satisfied.
